WINAM GROUP

DATE: 17.12.2019 [ ‘ .1 1(6)
(1) 702341 |res|(2) 709159 |pes|
i 2
90x50 | |15x1200x1486] |
(3 709160 |rcs|(4) 709161 |pes|
ﬁ 1 1
15x1486x2174| | 15x1170x2170 |
(5) 709162 |pes|(6) 709163 |pes|
1 D i
15x1376x1486| | 15x1170x1620 |
(7) 709164 |rcs|(8) 709165 |pes|
/ 4 / 4
18x80x1135 | | 18x80x1420 | |
+1740  |(9) 709168 |Pos|1Q) 709169 |pes
1 ; 1
+1310 Q — |

+670

15x1486x1545 | 15x1170x1540
PCS PCS
o (1) 709170 |pes|i2) 709171 |pes|
1 i
15x1170x1620| | 15x990x1170| |
(13 902233 |pes|(4) 905112 |pes|
48 48
Miox3o | | @22 | |
(19 909637 |Pcs|(16) 909638 |pes|(i7) 909876 [pes|(8) 910744 [Pes|(19) 910768 [pes|@Q) 910769 |pcs|
48 96 88 2 4 4

= SRS

Mio | | 820105 | | M8x40 | [154x1160x1445 | 30x60x1349 | | 30x60x1504 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081743M ™

DATE: 17.12.2019 | \YY 2(6)

(%]

(2) 910789 [Pcs|@d) 910790 [Pes|@3 910791 |Pes|e4) 910792 [Pes|@D) 910793 [pes|26) 910794 [pcs|
i I il 1 1

L 1528 L 796 L 1016 L 254 L 2158 L 1425
27 910795 |Pcs|28) 910796 |Pes|29) 980108 [pes(30) 980128 |pes(3D) 980150 |pes(32) 980151 |pes
1 1 8 29 88 88
©
I [ ®
L1e4s | | L8ss | | woaxes | | o7xa0 | | mMe | | o1e/8.4 | |
709387+
(O 709386 |pcs|() 910567 |pcs
SURFACE |2 |CONCRETE |8
FOOT OPTION ﬁ
g — —
M16x170 117x117x715
EN Impact Attenuating Surface (IAS) 24.4 m2
1:75
[ s
———— Fadlling Space 31 m2 0 3
Max Falling Height 1740 mm 3750
v
o
| 1500
& \
R = \ 1660 3
\\
\
\\

5480

6910

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N
WINAMGROUP  gg1743m s/
DATE:  17.12.2019 LAY 3(6)

HIGH

@20/10.5 M10
909638 909637

M10x30
902233

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N
WINAM GROUP  (g1743m Vs
DATE: 17.12.2019 P I—A‘( 4(6)

HIGH

980128

980150
216/8.4

980151 909876

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP 081743m )

17.12.2019 P I— A\( 5(6)

LOW

220/10.5 M10
909638 909637

D4x25
980108

M10x30
902233

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N
WINAM GROUP Vo

081743M
DATE: 17.12.2019 PLAY 6(6)
Install this plate last
after joining
g @7x40
980128

980150
216,/8.4 M8x40
980151 909876

JOINING TOGE THER

7x40 (5x)
980128 [

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 709386 T

SURF. FOUNDATION  oate: 2510200 =LA 1(1)
(1) 904450 |pcs pes
ﬁ 4 -
(OF— > L
M16x170
120 Nm = -
M1ox1 /70
<§>C> Cf O C§ o ;;g ;;;
ge 9 N N
© Q7 doge
W Wﬁ“ﬁ%ﬁﬁ“ﬁﬁ“ﬁ“ — —
Concrete / Betoni K30 pes es
SINGLE BOX
| 1575 |
M16x170 a4 — — — —
N |
RE )
2 [
=AY )
\ o
77777 L
/@ 2472
DOUBLE BOX

1205

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



11.5.2017

LAPPs

gy ot
ity Mﬂnvmxm

o

123 po
S oy
Tiergy ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.





